Math 107 
Test 1  
(Chapter 1)

Name_____________________________

Show your work to receive credit!
1.
Simplify the following as much as possible.
 (18 pts.)
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2.
Match each expression on the left with the letter of the property that justifies it.  
(5 pts.)
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a. Commutative Property of Multiplication
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b. Commutative Property of Addition
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c. Associative Property of Multiplication
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d. Associative Property of Addition
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e. Distributive Property

3.
For two points each, give:
(6 pts.)


The opposite of 
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The reciprocal of 
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The absolute value of 
[image: image17.wmf]3

4

-

. __________

[29]

4.
Factor 348 into prime factors.
(5 pts)

5.
From the set S = 
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 list all of the:
(8 pts)

counting numbers _________________________

rational numbers ________________________ 


irrational numbers ________________________


real numbers ________________________

6.
Evaluate:
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7.
Write an equivalent mathematical expression for each phrase:  
(8 pts.)


Two times the difference of 6 and x

The difference of two times six and x.

[29]

8.
Apply the distributive property and then simplify the result.
(8 pts.)
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9.
Simplify each of the following.
(16 pts)
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10.
Simplify each of the following.
(12 pts.)
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11.
Decide if each of the following is prime or composite.: 
(6 pts.)


a)   50 ____________________


a)   51 ____________________


b)   59 _____________________
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